2. — Kk
(D 15

o |mEK 7'“'5 7 # % & .
7 R w W B % 7 i
N (F1) (F1) (1) (Fr) (Fr) ()
W 1E (7782’;; 882,815 2,732,695 2,235,252 5,850,762 1,124,230 6,974,992
i 1E A (7782’;; 882,815 2,732,695 2,234,936 5,850,446 1,124,230 6,974,676
2] i (0(; 0 0 316 316 0 316
MO )P, EIRS BB Ok B (5L )
s g | T | Pt | VIS | gt | ke | g || iR || SN | | Ry | R0
i (Fm|  Fm| Em| Em| M Em| Em| M Em] Fm] Fm G| FmW
i HIER% 292,830 69,228 203,974 42,920 763,375 606,772 7,175 47,040 101,499 849 33,500 61,680 4,410
g:_/l
%
g HHERT 292,830 69,228 203,658 42,920 763,375 606,772 7,175 47,040 101,499 849 33,500 61,680 4,410
ER
e # 0 0 316 0 0 0 0 0 0 0 0 0 0




7 REHEEAE B LS OR S

o |mEK 7'“'5 7 # % & .
7 R w W B % 7 i
N (F1) (F1) (1) (Fr) (Fr) ()
i IE 1% 6<375; 0 2,464,160 1,944,127 4,408,287 889,901 5,298,188
i 1E A 6<375; 0 2,464,160 1,943,811 4,407,971 889,901 5,297,872
2] i (0(; 0 0 316 316 0 316
MO )P, EIRS BB Ok B (5L )
s g | T | Pt | VIS | gt | ke | g || iR || SN | | Ry | R0
i (Fm|  Fm| Em| Em| M Em| Em| M Em] Fm] Fm G| FmW
i HIER% 265,969 69,228 193,395 42,920 613,717 511,753 7,175 42,612 101,499 849 30,000 60,600 4,410
g:_/l
%
g HHERT 265,969 69,228 193,079 42,920 613,717 511,753 7,175 42,612 101,499 849 30,000 60,600 4,410
"
e # 0 0 316 0 0 0 0 0 0 0 0 0 0
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